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check your Question Booklet (QB) and
0.M.R. Answer Sheet and ensure that :

- Serial number of Question Booklet (QB)

and O.M.R. Answer Sheet is same.

- Allpages and all questions are properly
printed.
In case of any discrepancy/defect, the
candidate should immediately report the
matter to the Invigilator for replacement of
Question Booklet (QB) and O.M.R. Answer
Sheet. No claim/objection in this regard will
be entertained after five minutes of start of
examination, candidate will be liable for the
same.
2. Readallinstructions on the reverse of O.M.R. Answer Sheet.

3. OnO.M.R.Answer Sheet, use blue ball point pen only. Please, fill your Roll
No. and other information correctly in O.M.R. Answer Sheet.

4. Allquestions carry equal marks. For each wrong answer 1/3 mark of the
question will be deducted.

5. If more than one response is marked for a question, it would also be treated
as wrong answer.

6. Each question has five options/circles. First four options/circles A, B, C and
D are related to appropriate answer and fifth option/circle ‘E’ is related to
‘Question not attempted'.

7. Toindicate the correct answer, the candidate has to fill in only one option/
circle A, B, C or D with blue ball point pen for respective question number on
the OMR Answer Sheet. If the candidate does not want to answer any
question then the fifth option/circle ‘E’ should be darkened.

8. 1/3 part of the marks will be deducted for the questions, if none of the option/
circle options are darkened.

9. Ifacandidate leaves more than 10 percent questions or does not darken any
of the five options, he/she will be disqualified for the exam.

10. Candidate will be given 10 minutes extra to make sure, if he/she has filled
up any one option/circle for each questions.

11. Ifthereis any sort of ambiguity/mistake either of printing or factual in nature
in Hindi or English version of questions, then the English Version will be
treated as final.

12. Use of Mobile Phone/Bluetooth Device or any other electronic gadget in the
examination hall is strictly prohibited. If any such prohibited material is found
with any candidate, strict action will be taken against him/her as per rules.

Warning : If a candidate is found copying or using unfair means or if any
unauthorized material is found in his/her possession, F.|.R. will be lodged against
him/her in the Police Station and he/she would be liable to be prosecuted under
State Public Examination (Measures for Preventions of Unfair Means in
Recruitment) Act. 2022 and AmendmentAct, 2023. The act has provisions of
imprisonment of 10 years to life and fine up to X 10 crore. Board may also debar
him/her permanently from all future examinations conducted by the Board.
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TE 2025 & A H, TERATT TIHN 3T AR TIBR
(TETHIT) ST (6T TT 9 2

(A) LT TS
(B) 3T e

(C) e oftee

(D) 3O I8TH

(

AR T

A T B Tt feeft & @t 20 fo # 2 " &,
STEITeh B T C THetsy 39 24 fo7 & &2 9pa Bl Tl
A, B AT C THeAHT 35 H1 Bt 16 oA & F b 8,
Tt A TUT C TR 3T BT BI b= g H BT ?

E

~

(A) 30
(B) 32
(C) 34
(D) 28
(B) rIaRa ued

TSI 3T ATIHEAT o e ST T AT BT FeA
TS TS

(A) 1070 fomet
(B) 970 fsit

© 1270 fomt
(D) 1170 femt
(B)  3raRd e

Tr=faRaad 9 ¥, e faead Tt sre-gug
“TIRT” T, TIAAT BT AT ?

(A)  FERTS HPA

(B)  WIWRIT M
(©)  wef= Fae sremaa
(D) #foT HegHY

(B) IrIaRa ueA

3T Ve Teh | Tt ad & o, S I=-9T =07 37
HIars?

Under which of the following initiatives of the
Rajasthan Government and the Government of
India, were state-wide mock-drills organized, in
late May 2025 ?

(A) Operation Safeguard

B)  Operation Shelter

C)  Operation Shield

D) Operation Rakshak

E)  Question not attempted

(
(
(
(

A and B together can do a work in 20 days,
whereas B and C together can do it in 24 days. If
A, B and C working together can do the same work
in 16 days, then in how many days will A and C
together do the same work ?

(A) 30
(B) 32
(C) 34
(D) 28

(E)  Question not attempted

The total length of the international border
between Rajasthan and Pakistan is approximately :

(A) 1070 km

(B) 970 km

(©) 1270 km

(D) 1170 km

(E)  Question not attempted

Who among the following, composed the famous
Rajasthani poetry collection “Pagfero” ?

(A) Meghraj Mukul

(B)  Satyaprakash Joshi

(C©) Gordhan Singh Shekhawat
(

(

)

)  Mani Madhukar

Question not attempted

o

In the disaster management cycle, which of the
following stage, will come as the last stage ?

(A) g (A)  Recovery

(B)  wfafesar (B)  Response

(C) aamy (C)  Preparedness

(D) THUAH (D) Mitigation

(E) a:lﬂﬁ—c[ 99T (E)  Question not attempted
DS22 2
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10.

11.

I7E (A +B) BT120% = (A—B) FT 50%, AA:B &:

TeHaR 2024 #, TTT ALATH AT SrHT (VR H) Tpw
AT 2

(A)  Towet

(B) I

© a3

(D) Aty

(B) I IaRa ued

TSR HT AABA WRA & A HTBA BT ATHIT
fepaTafaea® ?

(A) 7.8ufasta

(B)  10.4 wfasta

© 141 wfastd

(D) 53WdeTd@

(B) 3raRd e

STITT T AT ?

A)  263TEET 1950

B)  2679EY 1947

Q) 267 9EX 1949

D) 26Hail 1947

(B)  3raRd e

TepetY e TiT U 8% ATTYeh ST T 3 a9 & Ak ghg TS
3T ATEMOT =TT | 37T T 616 3 | 98 LARIRT JT

(
(
(
(

(A) T 24,000

(B) 31,250
(C) 62,500
(D) ¥22,500
(B)  Irqand wed

frtaad # o, 69 Q-3 1, 'aq I & &9 H

TTepd hIT ST AHATS ?

If 20% of (A +B) =50% of (A—B),then A:Bis:

(A) 3:2
(B) 5:2
© 8:3
D)y 7:3
(

E)  Question not attempted

In December 2024, which team won the Syed
Mushtaq Ali Trophy (in India) ?

(A) Delhi

(B) Gujarat

(©) Mumbai

(D)  Tamil Nadu

(E)  Question not attempted

Rajasthan  constitutes  approximately = what

percentage of the total area of India ?
(A) 7.8 percent

B) 10.4 percent

C) 14.1 percent

D) 5.3 percent

E)  Question not attempted

The Constitution of India, was adopted by the
Constituent Assembly of India on :

(A) 26 January 1950

(B) 26 November 1947

(C©) 26 November 1949

(D) 26 January 1947

(E)  Question not attempted

The difference between compound interest and
simple interest on a certain sum of money for
3 years at 8% per annum is X 616. Find the sum.

(A) 24,000
(B) 31,250
(©) 62,500
(D) 22,500
(E)  Question not attempted

Which one of the following musical instruments
can be classified as a “Tat Vadya’ ?

(A) dmrm (A) Tasha
(B)  TraurgRm (B) Ravanhatha
© @%T (©)  Turhi
(D)  @otRT (D) Kanjira
(E) 31&?1'&7‘[ = (E)  Question not attempted
Q DS22 3 PTO
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12, TR A, TS U & SRS i 9 ? 12. Who was the founder of the “Niranjani sect” in
Rajasthan ?
(A) dagie™m (A)  Saint Haridas
ehaji Manglia

(B)  WETSII AT (B)  Mehaji Mangli

(C)  wleaTas (C)  Mallinathji

(D) st (D)  Pabuiji

qq uestion not attempte

E E)  Questi pted
13. 13.

0_

Sl W wE e W S Jan . Feb  Mar  Apr  May  Jun
f&or T 2 TET X T2017 H 6 chl?ﬁ * %Tq EIES The given data shows the registration of bikes and
\ﬁTwm(m ) BT I IBTOT geTTaT | total vehicles (in thousands) for 6 months in 2017

e : in City X.
:ﬁg LT H . AT <18 &2 a’%ﬁ?ﬁ% eI £ Note : In the chart, the first number represents
FT A ATEAT Bl S0 & | bikes and the second number represents total
TST 71T 3RSl % MUK TR, STAART 2017 B qA-T A vehicles.
e : ST E|'I%T-|3r dfrepTr A Based on the given data, the increase in the
3 f2017 A e S ' ® i registration of vehicles other than bikes in April
Qﬁs{@% ? 2017 in comparison to Jan. 2017 is :
(A) 8050 (A) 8050
(B) 9500 (B) 9500
(C) 9000 (©) 9000
(D) 8000 (D) 8000
(E) 31’71’?@?-[ 9T (E)  Question not attempted
14. 2011 Bt FOET & AR, TSRATT BT Q]gfr 14. What was the urban sex ratio of Rajasthan as per
%ﬂw RpaET o2 the Census 2011 ?
(A) 928 ATEAT/1000 THI (A) 928 female/1000 male
(B) 933 ATEAT/1000 T&T (B) 933 female/1000 male
(©) 943 ATEAT/1000 TET (C) 943 female/1000 male
(D) 914 ATEAT/1000 75y (D) 914 female/1000 male
E PECY E Question not attempted
p
15. fefeTigd & & @9 |7 1s8, WA & Fiaar &t |15, Which of the following words is not found in the
TeTaAT H ﬂ??f‘TITITGI'IﬁT% 5 Preamble of the Constitution of India ?
(A)  segar (A) Fraternity
(B) wad=dr (B)  Liberty
(© w9 (C)  Federation
(D) IO (D)  Republic
(E) a:l?rﬁ—c[ 99T (E)  Question not attempted
QO DS22 4
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16.  HWEI HY THHT S AT 33U fSargd ¥ e |16, Which hardware device is used for connecting a
* forT P BT AR ReaTe T SUTRT REETSaT R 2 computer to audio output devices like speakers ?
(A) T ESHE (A)  Sound Card
(B) TP BT (B)  Graphics Card
(©) THUwEt (C) SSD
(D)  TA3TEH (D) NIC
(E) 31:@'&7—[ 9 (E)  Question not attempted
17. meaﬁéuﬁgr 3ATHZT 50,806 qurIEreT|17. On simple interest a certain sum becomes ¥ 50,806
F5a9HZ 59,210 AT AT | T TR - in 3 years and X 59,210 in 5 years at the same rate
’ ) of interest. The sum is :
(A) 38,200 (A) 38,200
(B) 38,360 (B) 38,360
(C©) 39,400 (©) 39400
(D) 38,100 (D) 38,100
(E) alT-ﬁﬁ_c[ PR (E)  Question not attempted
18. AT HT O B CA TR S I K (2005) * 3131‘1?[, 18. Under the RTI Act (2005), there is an exemption
g F O ey g ¥ 99iE sEer # from the obligation of disclosure of information
A 5 relating to which one of the following matters ?
® ﬁ@eé’m‘g‘% ? Choose the most appropriate answer :
o YT ST
(A) T STHPHRT ST TR B TehdT 3 WHHTEE)[ (A) Information that may jeopardize the
T ST ThATE Integrity and Sovereignty of India
[ A i owers an uties of officers depute
B) WdSIi® wHEierdl | aTfrRTRET & B) P d d f off deputed
STRBTT 3 FaeT within public offices
S0 ] ategories © ocuments e a
(C) T TR FETET G I T SEATIST BF (C) Categ f d held by
o Government office
[ ST ont remuneration receive office
D) At fasit fomw & sreias weaniat D) Monthly d by off
e HIRTR Oa staff of a private corporation
(E) 31’71’?1'&6[ PR (E)  Question not attempted
R ) NNSESIG) ¢ Ta’ | 19. o among the following, from Rajasthan, earne
19. freAfafEd § 9, feaa ¥ ‘s ufedt’ 19. Wh g the following, from Rajasth d
fieT-gawiE) TR, U Faasar & ; international acclaim for his portraiture on ‘Blue
( " )T, %‘l‘(’, SJT‘RTT@U Pottery’ ?
ST T 1 2
(A) IR (A) Birbal Singh
(B) SUIee™ (B) Dayaldas
O P e sETEd C)  Kripal Singh Shekhawat
p &
(D) FHHA BRI (D) Komal Kothari
(E) Wﬁ?{ 79+ (E)  Question not attempted
20. TTIREd | ¥ FFT Gq &1, ‘T BT Ha 1’ Har|20.  Which one of the following saints, is known as the
ST ? ‘Kabir of Rajasthan’ ?
(A) TS (A) Laldas
(B)  STEATISI (B)  Jasnathiji
C YT C Dadu Dayal
© TIg © y
(D) e=FTHIa (D) Dhanna Bhagat
(E) Wﬁ?{ 79+ (E)  Question not attempted
Q DS22 5 P.T.0
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21. Eﬁw{{ I, Ttaiad § d 769 &% 9 A« #|21.  In which of the following folk dance forms of
Tl R oT Se Ry SaeRt T Teteq we Jodhpur, do women carry perforated pots, on their
. ’ heads, with burning lamps inside ?
THH I FIATE ?
(A)  =FETIA (A) Chang dance
(B)  HsTIH (B)  Ghudla dance
(C) degTw (©) Gindar dance
(D) 3T (D) Agni dance
(E) 31:@'&7—[ 9 (E)  Question not attempted
22. a;uﬁ et 3faq: =ferRaa § ¥ [6e# St et |22, The Luni River ultimately drains into which of the
) following ?
(A) TEEHEEmR (A) Indian Ocean
(B) =geT Sl (B)  Chambal River
O HWHII (©) Rann of Kutch
D SUIGH D Bay of Benga
ATTeT &t TSt y of Bengal
(E) alT-ﬁﬁ_c[ PR (E)  Question not attempted
23. 9T ¥ ITL-UNTH Iqd H@aoA (Gﬁ:{) P AT, 23. The headquarters of the North-Western Railway
ﬁmﬁﬁwﬁﬁﬁwr@rﬁrwﬁ%% 5 Zone of India, is located at which of the following
' places ?
(A) W (A) Jodhpur
(B) SEIX (B)  Jaipur
(C)  3mMET (C)  Ajmer
(D)  iHHR (D) Bikaner
(E) 3:71’?1']5:6[ PR (E)  Question not attempted
24, AT F SIS ngEmﬁ T yafrd ofi-&aT, |24, The folk art-form prevalent among tribal
St @ N RS TSTae % %I'Q AT Fr T communities in Rajasthan, wherein a needle-like
=t 3 3@ 3 tool is used to insert black pigment into the skin for
slettatldl s, s <bed & - adornment, is called :
(A)  wrEg (A) Kavad
(B) (B)  Veel
() HigaT (©) Mandana
(D)  eAT (D) Godana
(E) Wﬁ?{ 79+ (E)  Question not attempted
25.  fyefaiEd | ¥ Si9-9t TR $r a@’f’r Ty ¥er|25. Which of the following is the second-largest
W%ﬂ?‘f% 5 artificial lake in Asia ?
(A) é‘]@am‘rgﬂa (A) Didwana Lake
(B) W’q’%ﬁﬁ (B) Jaisamand Lake
(C) wR A (C) Sambhar Lake
D D Kolayat Lake
(D) BicTrard gitet (D) Kolayat Lak
(E) Wﬁ?{ 79+ (E)  Question not attempted
Q DS22 6
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26.  IOREATM H, [Nl WX 9T HIA-A7 Farea 1A |26, The highest judicial court, at the district level, in
IR ? Rajasthan is :
(A) ITEEEET (A) High court
(B) %IFIT@WW (B)  District and Sessions court
© WH‘%@EWW (C)  Court of the Judicial Magistrate
(D) IRaR =T (D)  Family court
(B)  3raRd e (E)  Question not attempted
27. TR § ¥ BIT-ATTE WH-Ia GsgH & 2 [27. Which of the following is a protein-digesting
enzyme ?
(A)  fefta= (A)  Trypsin
(B) i () Lipase
© W= (C©) Maltase
(D) THTEAS (D) Amylase
(E) 3]7-@%\—(-[ g9 (E)  Question not attempted
28. T=NETH® ﬁ?ﬁ'-l T ﬁ:‘q T Tifas JIUﬁ BT g\?ﬁ-z 28. Match the physical properties given in List-1 to the
FHIE I %TI@?ﬁ T EE RS 3T Trﬁ Ft uefie metals that exhibit those properties given in List-2 :
FIAE List-1 List-2
Fﬁﬁ'—l ﬂ?ﬁ-Z (Physical Properties) (Metals)
(+iferem agoT) (errqd)
(@) | Liquid at room |(i) Sodium (Na)
@ | F & I W (1) RIEDE] (Na) temperature
SRS (b) | Can be easily cut |(ii) | Mercury (Hg)
(b) 5 3T @rfrrcg (if) 9T (Hg) e ‘}/Evithleli knife o N pE D
THaT C xcellent 111 ea
RE2E E conductor of heat
(0 |FeHTHEISPE (i) | FET(Pb)
ATl (d) | Poor conductor of |(iv) | Silver (Ag)
heat
d FAAD i 1
D |F= ) ?l'IE(Jf(Ag) Choose the correct answer from the options given
below :
Fereferfiare forepeeit 3 4 Ay S T oo
(A)  (a)-(id), (b)-(i), (c)-(iii), (d)-(iv) (A)  (a)-(id), (b)-(i), (c)-(iid), (d)-(iv)
(B)  (a)-(i), (b)-(iii), (c)-(ii), (d)-(iv) (B)  (@)-(i), (b)-(iid), (c)-(ii), (d)-(iv)
(©  (a)-(iii), (b)-(i), (c)-(ii), (d)-(iv) Q) (a)-(iii), (b)-(i), (c)-(ii), (d)-(iv)
(D) (a)-(i), (b)-(), (0)-(iv), (d)-(i) (D) (a)-(i), (b)-(0), (0)-(iv), (d)-(i)
(E) uq (E)  Question not attempted
29. fye=feigd & ¥, fpe qdcd e &I, “99 Wig” [29.  Which of the following tourist spots has been
TEeT ¥ TEd, AT 5 F7 ah e s % foa selected under the “Panch Gaurav” initiative to
’ represent the Jaipur district ?
TATTATE 2
(A)  3TEY Egﬁ' (A) Amber Fort
(B) SATHAY (B)  Jantar Mantar
() ATEwTg e (C) Nahargarh Fort
(D) BarHsA (D) Hawa Mahal
(E) a:lﬂﬁ—c[ 99T (E)  Question not attempted
Q DS22 7 P.T.O



https://skscholar.com

30.

31.

32.

33.

34.

WRA B FTAOET 2011 F NN, TRAH &
frfalea # o few e § femmama (w1000
TEYT I ATEAT B F&AT) FaH FHH Fof 6T 74T
o7 2

(A) FER

(B) warwTg

Q) iR

D) FRE

(B) IraRa ued

TS & 68 TIRE BN, G BT &1 72’ Fal
AT ?
(A)  ATATE HESA

(B) TaaRHEEA
Q) TrHEA
(D) Tastued

(E)  Irgana e
T(STETH | B9 & Hel Bl MG BT 5w Y FHaT
STATE ?

(A)  wIER AT

(B)  STUIYAR HeT

(C)  T=wlt eaTorST Hel
(D) ST HTAT HeAT

(B) 31 aRd e

TR TIHR F Hefaiad fam § 9 |i9-a1
TIVTNT TS0 B T TRUTAbTA (e T
ToepTat) o T feer=t 3 TH=g BT BT BT ?
(A) & T, TSR BN

(B) U HATT [T, TSI TXHR
(C) T T [T, TSI TIHN

(D)  TRUTCTRT TR, TSTLAT TIHN

(B)  Irqand wed
frfaiaa & 9, ®i9 JEER T, & e
HATBR Y ?

(A)  IJIHIS

(B) UG WIAT
©) A=

(D) =S TH

(B) IraRa ueA

30.

31.

34.

Which of the following districts of Rajasthan,
recorded the lowest sex ratio, (number of females
per 1000 males) in the Census of India 2011 ?

>

(A) Jalore

(B) Pratapgarh
(©) Dholpur
(
(

S

Dungarpur

E)  Question not attempted

Which monument of Rajasthan is known as the
‘Hawa Mahal of Jhunjhunu’ ?

(A) Lalgarh Palace

(B)  Chittar Palace

(C) Rang Mahal

(D)  Khetri Mahal

(E)  Question not attempted

Which fair in Rajasthan is also called the ‘Kumbh
of the Tribals” ?

(A) Bhartrihari Fair

(B) Baneshwar Fair

(C©) Diggi Kalyanji Fair

(D)  Sheetla Mata Fair

(E)  Question not attempted

Which of the following departments of the

government of Rajasthan performs monitoring and

coordination function for all the municipal bodies

(Urban Local Bodies) of the state ?

(A) Department of Home Affairs, Government
of Rajasthan

(B) Department of Chief
Government of Rajasthan

(C) Department of Local Self Government,
Government of Rajasthan

(D) Department of Municipalities, Government
of Rajasthan

(E)  Question not attempted

Operations,

Who among the following, was a famous artist, of
the Shekhawati Khyal ?

(A) Ugam Raj

(B)  Jaydayal Soni

(©) Nanuram

(D) Lachhi Ram

(E)  Question not attempted
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35. O Ugr S A fleHT U9 @) ol $Y &d &,|35. Substances that turn blue litmus paper to red are
W%gﬁ-% in nature.
A m— ?ﬁ'ﬂ Choose the most appropriate answer.
(A)  STITRRI (A) hydrophobic
(B) 3IEH (B)  neutral
© I (©) acidic
(D) g™ (D)  basic
(E) Sﬂ?lﬁ_cf q9q (E)  Question not attempted
36. ATl T (AT TTHTST ¥ T Tl THET 61 2T |36.  The soil type formed due to sediment deposition
TR by rivers is known as :
(A)  deTge ey (A) Laterite soil
(B)  STotrg fagt (B)  Alluvial soil
(C) o gt (C)  Red soil
(D)  Telt fhgt (D)  Black soil
(E) 3]71?@?-[ 79+ (E)  Question not attempted
37. AT 1949 H, ‘gEa¥ (YY) TSTRAT’ T T3, |37.  Greater Rajasthan was formed in March 1949, after
frtefea & @ fFT Tt ¥, TR % 91 e the integration of which of the following states ?
aqr?
,—_ﬂ% &rq T ﬁw 'ﬁ' ﬁ' m gq-aaﬁ' 3T BT W Choose the most appropriate answer from the
% options provided below :
(A) IR, 2ﬁ?v|1:|3 BT 3T HIAYT (A) Alwar, Dholpur, Karauli and Bharatpur
(B) SR, Gﬁ"i,]‘lig , SHHT 3T BT (B)  Jaipur, Jodhpur, Jaisalmer and Bikaner
(C) i, TR, fHITTE 3 TEqRT (C) Tonk, Dungarpur, Kishangarh and
Shahpura
(D)  SHaTET, HIeT, IaT 3 AT (D) Banswara, Kota, Bundi and Jhalawar
(E) a,qﬁﬁa PR (E)  Question not attempted
38. U ToolaTSt A 219 ORI H 84 T TG, FTEH IHHT(38. A patsman makes 84 runs in his 215t innings and
I 2 T I AT SHHT 21 TTRAT HTINAAL thus increases his average by 2 runs. His average
of 21 innings is :
(A) 4237 (A) 42runs
(B) 46T (B) 46 runs
© 48T (C) 48 runs
D) 4= (D) 44 runs
(E) Wﬁ?{ 79+ (E)  Question not attempted
39. ISR IS SS9 2025 & HTAR, TSR F|39. According to the Rajasthan State Budget 2025, a
H TP G IIET S T e Gharial Rearing Centre, will be established at
- ’ in Rajasthan.
ST |
(A)  FTFAG (A) Kumbhalgarh
(B)  ieT (B) Kota
(C) T (C) Karauli
(D) waTEg H‘rzﬁ'g'{ (D) Sawai Madhopur
E) 99 E)  Question not attempted
( p
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40. fr=feiEa 9 ¥ A goatEtel & I T 31T 1 |40.  Who among the following led Akbar’s forces in the
AT HT ﬁaa- TR T ? Battle of Haldighati ?
(A)  TemHEE g (A) Raja Man Singh
(B) TSI 3mR g (B)  Raja Amar Singh
(©) Tom3ew e (C)  Rana Udai Singh
(D) ST A (D) Raja Todar Mal
(B) IraRa ued (E)  Question not attempted
41. HAENET ¥ 9 69 ARG 59 § “3RTATT |41, In which of the following Indian state is the
TR R Rea “ Agasthyamala Biosphere Reserve” located ?
(A)  3TErUSeT (A)  Andhra Pradesh
(B) HIA (B) Kerala
© 3= (C) Assam
(D) FARCSH (D) Karnataka
(B) 3raRd e (E)  Question not attempted
42. IS GIAHTAT WRA & (eiRgd § ¥ {67 |42. The Aravalli Range runs through which of the
TSTT / T 9T WW% ? following States /Union Ter}’itory of India ?
e o e fapent o1 ey ST T BT A Chc?ose the ‘most apprf)prlate answer from the
=% options provided below :
(A)  TSTRATH, IAT TS 3N 7e UQ2T (A) Rajasthan, Uttar Pradesh and Madhya
Pradesh
(B) TR, Tt 3TN ST (B)  Rajasthan, Delhi and Gujarat
(C)  TTSTEATH, T UeeT 3 TS (©) Rajasthan, Madhya Pradesh and Gujarat
(D) TSR, Tooetl 3T /e ueet (D) Rajasthan, Delhi and Madhya Pradesh
(E) 3ﬂ?|ﬁ_d 99T (E)  Question not attempted
43. I/ 2025 H, Y ARG Red d% (RBI) ®T|43. In April 2025, wh;) has been appoin;ed as the
Deputy Governor of the Reserve Bank of India and
%T%EETF RARESRAR ﬁ_&ﬁﬁ B is alfso};he first woman to hold this position ?
(A)  gAHIEAT (A) Poonam Gupta
(B) WY AT (B) Santosh Agarwal
(C)  STifer rHT (C)  Jyoti Sharma
(D) 3@1‘@ 01T (D)  Anju Rathi Rana
(B)  3raRd e (E)  Question not attempted
44. 8 W 10 TG, 2025 F I, 1897 TATH WRATH |44 Where was the 18th Pravasi Bhartiya Divas
foaw Hﬁ?f-‘-f, THEl TS BT TIT AT ? Convention held, during January 8 to 10, 2025 ?
(A) SIS, FARCH (A) Bengaluru, Karnataka
(B) Eﬂeﬁ?ﬂ, TSI (B)  Bhubaneshwar, Odisha
(C) IEHAIEIE, ToTd (C)  Ahmedabad, Gujarat
(D) g et (D) New Delhi
(E) 31&?1'&7‘[ 99T (E)  Question not attempted
45. FEIOTHATF1 TGl H W9 Bl Uhe FIAT8, TEBrare :  |45.  The trait that expresses itself in F1 generation is :
(A)  gwTd (A) Dominant
(B)  IAREdl (B) Mutant
©) " (C)  Hybrid
(D)  3rorTeit (D)  Recessive
(B) IaRa 9 (E)  Question not attempted
10
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46.  HEITOM 9dTT 5q|$ 31T, T RId o ¥ 59 = |46.  In which of the following places, is the Maharana
e ey Pratap Airport located ?
(A) =6 (A) Dabok
(B) U (B) Khandela
(©Q SR (© Jaipur
(D) Y= (D) Pushkar
(B)  3raRd e (E)  Question not attempted
47. g9 gjﬂ (Union List) WA Hfqem &t {69 |47. The Union List is part of which schedule of the
me% 5 Constitution of India ?
(A) 7th (A) 7th
(B) oth (B) oth
© 11th © 11th
(D) eth (D) eth
(E) alT-ﬁﬁ_c[ 9+ (E)  Question not attempted
48. TU% ﬁ\_rr FTITOTAAT 9§ H/ 93 GFIT-IT%, STET gl ¥ 48. A cistern is normally filled in 9 hours but takes
TR F BT I AT F 6 92 37frs o q:{' 3 T 6 hours more to fill because of a leak in its bottom.
ST R If the cistern is full, the leak will empty it in how
TEEW A f many hours ?
(A) 23 (A) 23
1 1
B 22— B 22 =
® 22 ®) 22
1 1
C 24— C 24—
© 24 © 2
(D) 20 (D) 20
(E) 31’71’?1'&6[ PEC (E)  Question not attempted
49.  WRA % AT BT, BIF-9T TS || 7%, STTfer, |49.  Which Article of the Constitution of India, deals
0T o7 ST T % 37U 9T HEHTT % By with prohibition of discrimination on the grounds
i % , of religion, race, caste, sex or place of birth ?
(A)  ITWI21A (A)  Article 21A
(B) 3rI=I15 (B)  Article 15
©) IrT=s340 (C)  Article 40
(D) 333 (D) Article3
(E) 31’71’?1'&6[ PEC (E)  Question not attempted
50.  T(STEAT H, STeT HETE HLeq07 & {70, 379 gam @i & |50. Who among the following, is known as the
FROT. reiEg 4 9 fRY ‘W’ ¥ w7 F ST ‘Waterman’ for his efforts, in water resource
y conservation in Rajasthan ?
STATE 2
(A) T Rrg (A) Gopal Singh
(B) e RaE (B)  Rajendra Singh
(O) yama s (C) Pratap Singh
(D) :ﬂﬁ?{ T (D)  Arjun Lal
(E) a:lﬂﬁ—c[ 99T (E)  Question not attempted
P.T.O
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51. 2011 &I STAIOAT & THR, TSR Bl Ta9ET| 51. According to the 2011 Census, the Rajasthan's
meaﬁwﬁ population density in comparison to the previous
) census has :
T feu aTw foeedt § ¥ 9= IO 37X BT IATT Choose the most appropriate answer from the
FT - options provided below :
(A) =g (A) decreased
(B)  SAATEITET (B) remained the same
©) == (C) increased
(D) T as Y FHaEr -‘-@P‘T ST ThdT (D)  there is no way to tell
(E) 31:@'&7—[ 9 (E)  Question not attempted
52, TETeTREd H F BiH-T Tl TR Aol S Hg™d Aot |52. Which of the following is a tributary of the
z? Gambhir River ?
(A)  FTAITT (A) Kalisindh
(B) o (B) Sesa
(C) gwer (C)  Sukri
(D) A (D) Morel
(E) alT-ﬁﬁ_c[ PR (E)  Question not attempted
53. feafimrene? 53. What is debugging ?
:ﬁ% %—q Tl-q- ‘i%'wﬁ- ﬁ- a- w W 3T BT AT Choose the most appropriate answer from the
% ° options provided below :
(A) gieeaaT | aﬁ‘éﬁo F 6T IdT =T 3T :Fg 3t (A) The process of finding and fixing errors in
FH T uRETT software
(B) TTRdUT B ITTd B BT UTRAT (B)  The process of deploying software
(C)  FFEITT WM I B WihaT (C)  The process of installing software
(D) B 7= BT URRAT (D)  The process of writing code
(E) 3:71’?1']5:6[ PR (E)  Question not attempted
54. IO & FRT QBT H, “Hicdl BT Y W Har|54. Which city of Rajasthan, is also known as the “City
ST ? of Bells’ ?
(A)  HTRMEIET (A) Jhalrapatan
(B) ST (B)  Jhunjhunu
(€) SHER (C) Jaisalmer
(D) ST (D) Jalore
(E) 3:71’?1']5:6[ PR (E)  Question not attempted
55. TR & fefaiaa § 9 69 o9 § (49%eT &1 |55.  Which of the following regions of Rajasthan has
?{%a ) T RO T FAE ? the lowest forest cover (area-wise) ?
: 5 3 E Choose the most appropriate answer from the
:ﬁ% e Ty #a SRR SRIERAR! options provided below :
B
(A) T® (A) Churu
(B) SRR (B)  Jaisalmer
(C) 3R (©)  Ajmer
(D) %ﬂm (D) Bhilwara
(B) IraRa ueA (E)  Question not attempted
Q DS22 12
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56.  TATIREd | o HI-HT THST & &1 BT 870T A& |56.  Which of the following is not considered as a sign
AATSATE ? of soil degradation ?
) . Choose the most appropriate answer from the
? e e ferepeat # & waw STIHRT I BT AT options provided below :
(A) 31T geTATOTET (A)  High soil salinity
(B)  HaT3IIWEA T a@ﬁﬁ (B)  Increased soil erosion
Q) I TS fauredr (C)  High chemical toxicity
(D)  3rferes FAE [T (D) High humus content
(B) IraRa ued (E)  Question not attempted
57. “ﬁt@'ﬁ'@ T =g g =T &9 TSI |57 The “Sidhmukh Major Irrigation Project” primarily
¥ PrafefEg St Bt qgﬂ'l?ﬁ% . benefits the following districts of Rajasthan :
(A)  STerE 3T ATt (A) Jodhpur and Pali
(B) HISTINT HATATATS (B) Kota and Jhalawar
(©) <iw AT (C)  Tonk and Bundi
(D) EIETETR T I8 (D) Hanumangarh and Churu
(E) alT-ﬁﬁ_c[ 79T (E)  Question not attempted
58. ﬁﬁsmﬂg et St B 39 qﬁﬁg{ ﬁ:r;ﬁfﬁr (ﬁ%‘n) 58. Name the iconic painting of the Kishangarh
T AT TART 5y Qﬁ—cﬁ fefFT 21T ‘9T &5t School, acclaimed as the “‘Monalisa of India” by Eric
’ Dickinson.
HATITET FETTATE ?
(A)  JEIIETATAT (A) Bundi Ragamala
(B) TAT-ATE (B) Dhola Maru
(C)  SUHAI-ITST ERESS (C) Roopmati-Baz Bahadur
(D)  SoR-3IoTt (D) Bani-Thani
(B) 31 aRd e (E)  Question not attempted
59.  TSTEATH I Tl ATSAT HIAT B A ? 59. Who was the first woman Minister in Rajasthan ?
(A)  Tg=a T (A) Vasundhara Raje
(B) gener T (B)  Yashoda Devi
€ fe=r ?FIT\Pf (©) Diya Kumari
(D) AT T (D) Kamla Beniwal
(E) 347—\13@?-[ g9 (E)  Question not attempted
60. T=faRad & & Si=-, 1{@“{ gt & fqaer #t,|60. Among the following, the most eco-friendly
TS T FTFA fafuro method for disposal of dry leaves is :
: 5 3 ] 3 Choose the most appropriate answer from the
:ﬁ% few o #a AR ST BT options provided below :
.
(A) EEIATET (A) Composting
(B)  STeATHT (B) Burning
© TMReF P AT A T TN e o (C) Stuffing into plastic bags and throwing in
ST the garbage bin
(D) S| %ehAT (D) Dumping in river
(E) 3:['-\[);1‘]%[ 9T (E)  Question not attempted
13 P.T.O
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61.  Trfoiaa STt # & 915 STat T o= BT ; 65. A1 7 fIU T T reat BT e FE-11 A
@ T T S R ot gL
(b) e -1 (FH) -1 (A7)
(©  SromE (2) | wrregH 0 |
@ U ®) |7 (ii) 31‘1‘11
(€ |31y (i) | g
(e) TWIY @ [ T
= Ty 7T et & o o ST I BT AT
FifT T fow T faehedt ® o WE ST BT 9= HIAT ;
A a)-(iii), (b)-(iv), (c)-(i), (d)-(ii
) @) M (0 B (i, B0, (- @0
(B) et (o) 3 (d) (O @i (-G, ©O-v), ()
(©  Fae (b) 3 () EE)) (@)-(iv), (q)Q ﬁl) (0)-(1), (d)-(ii)
(D)  &ad (a) 3 (b) 66.  “HINTH’ F UTAT TIA R ;
(B) 31 aRd e (A) %
62 A ) s FA e e 2 g ® o=
TR T1-8 BT YT (BT ST R ? © w=
(D) fa=
(W) e s ®) s s
(B) TS 67. ‘I AT AT BT HE A :
©) vu-famfa (A)  STEIASEAT
(B) T ETAT
o © wheadn
(B)  STIaRa ued R —
63.  ‘Foal’ ST P [TT WEN ATFITN S (E) I e
(A) STt TPU ITT IUHT BT A ATAAT & 68.  FerAfcTivart ot # & 1T -1 TR ST BT
(B) ¥ X 9gd IUBN (T MY &l TSRS ? ‘
(A) =it 3red forart areTot e o |
© St (B) it wrlt-sndr et |
(D) ST e T IHHT BT AT EN (©) IS e [EABIT AT T |
(B)  3rRa wed (D) o cter ey ¥ ST T ot |
. (B)  3raRd w9
R T AT S . sl EmTRTT AR
(A) =B (A) 37 iR BT T g&it BT e ST |
(B) war (B) e TR & 9T T & ST |
€ e (C) 3 AT Bl 9T T & %ol U &
ST
© = (D) s7erafer ST MR e |
(B) ST IaRd 9o (B)  Srgana wed
Q DS22 14
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70.  ‘SETATY BT WiE-TaEse gh 76.  frfaRad ereat # A FIT-9T ‘BHA’ BT UL TaT
(A) ST + AT & 52
(B) ST+ 31T (A et
(©) ST+ B)  aie
(D) ST+ ©) e
(B)  3raRd 99
71.  ‘ADVERTISEMENT 9Ts5 & &t & : 0)  w=
(A) s (B)  3raRd w9
(B) fafe=r 77.  frefaiad o=t # A -1 g TRy T8
() IgEiom g2
(D) g3 (A)  3Ad
(B) 1R e B) frpe
72, fqAtaREd § ¥ 975 919 BT IIF FIT ; © v
(A)  FHET AN TEE |
(B) ¥V UH IV qh ITH! TG T | (D) @rer
(O refr st Wy Bt BT FE Y | (E)  Irgafd wed
(D)  H T o HERA R TETE | 78.  frAfaRed # ¥ Si-Gt erfaaras ST e &2
(E)  Sraid ued (A) T
73.  “STITOIST QTS5 BT ICTIH T BT : B) ferem
(A)  wemsht
(B)  uREsT © =
© R (D) THARAHE
(D)  Tremsit (B) 3 aRa wed
(B) 31 aRd e 79.  TrAfaRad # ¥ H9-91 aa oraree LT H
74.  TATeTRE ATt ¥ REEE T T BT T ISTEXOT TR B2
FIE? (A)  FETEH AT gy W ST R |
(:) ;“;T@;Twl (B) I AT~ SHIE 9&d THE £
EC)) ergﬁmgﬁﬁ%l (€ e s I THB I B 2
D) o e T (D) T FF AT FA
(B)  STId 997 (B)  3raRd weA
75. ‘TASIRBAE?’ 80.  feremiferiiae % @ ot Wi T 3ETRTUTR -
dqilw?{quﬁuﬁdlﬂwﬁ?—wﬁﬁﬁ? (A)  wahy
(A) Wﬂéﬂm B e
(B)  ORHATITATAE HIATH
(©) MyggaTa® qaa™ ©  ferw
(D)  WemaTasE TEATH (D) sriise
(B)  SId 99 () 3Taid ued
Q DS22 P.T.0
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81. Which of the following is the correct | g5, Choose the most appropriate English
transformation of the given Assertive sentence translation of the given sentence from the
into a Negative sentence ? options provided :

I am happy with what I am earning now. “qy AR _@% T8} See-Y-Seg 3N ST
(A) Iam happy, I am not earning now. fr |
(B) I am not happy that I am not earning

Nnow. A) Ithink so you come quickly to here.

y q y

() Twillbe happy if I earn more than now. (B)  Ithink that you should come here as soon
(D) I am not happy with what I am earning as possible.

now.
(E)  Question not attempted <o 1 t}-liik that you must arrive to this place

82. Choose the most appropriate Hindi word for quick
the word ‘MEMO'. (D)  Inmy thinking, you come fast here.

(A)  E-ERBRT T (E)  Question not attempted
(B) T 86.  Fill in the blanks in the given sentence by
© A choosing the most appropriate words from the
(D) o options provided :

) You may play with my pet , but my
(E)  Question not attempted boy, do not cause any harm to it.

83. Choose the most appropriate option to translate
the given sentence from English to Hindi : (A)  dare, deer
Three armed men barged into the manager’s (B)  dire, dear
cabin.

. . C deer, dear
(A) i g T e 3 B ©
A (D)  dear, deer
(B) &9 EPrOREE et FSR * BEwA § (E)  Question not attempted
Wa'ré' S| 87.  Fill in the blank in the sentence given below by
© & =R = s ¥ wrwer i ((:)}I;(;ic;srlgi ;Bsig:? appropriate answer from the
ESRLY ) adults know how to conduct
(D) #ASR F @ RERES NEHdl &t 379+ themselves in public places.
p p
FEHL H ITEAT 47| (A)  Much
(E)  Question not attempted () Many
84. Choose the most appropriate option to convert
the given sentence from Direct Speech to (©)  The few
Indirect Speech : (D) Many an
He asked, “What were you reading yesterday )
night ?” (E)  Question not attempted
(A) He asked what I had been reading the | 88. Identify the grammatically most appropriate
previous night. sentence from the options given below :

(B)  He a.sked What I'have been reading the (A) Ihave seen never such a beautiful sunset.
previous night.

(C)  He asked the previous night what I was (B)  I'have never seen such a beautiful sunset.
reading. (C)  Iseen never such a beautiful sunset.

(D) He asked what was I reading the .

. . (D) Inever have seen such beautiful sunset.

previous night.

(E)  Question not attempted (E)  Question not attempted

Q DS22 16
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89.

Which of the following is the correct

] ) ) 93. For the given Assertive sentence, choose the
transforrr}atlon of t}}e given Interrogative correct Exclamatory sentence from the options
sentence into an Assertive sentence ? provided :

Isn't virtue its own reward ?
It looks very odd.
(A) Virtue is its own reward.
(B)  Virtue may be its own reward. (A)  How odd it looks!
. . o
(C)  Virtue is rewarding! (B) Itreally is odd.
(D)  Virtue is not its own reward.
(E)  Question not attempted © Odditis!
90. Fil}[. in the blank by choosing the correct (D)  Looks very odd, right ?
option :
I saw Rohit a concert last Saturday. (E)  Question not attempted
(A) on
B " 9. Choose the sentence with the correct usage of
(B) o Punctuation from the options given below :
(©) at
(D) since (A) Narayan Singh; my coach will teach me
new football techniques.
(E)  Question not attempted
91.  Fill in the blank by choosing the most (B)  Narayan Singh - my new coach will teach
appropriate answer from the options given me new football techniques.
below :
He hinted that he some pocket money. (C) Narayan Singh my new coach, will teach
me, new football techniques.
(A) want
(B)  wanted (D) Narayan Singh, my coach, will teach me
new football techniques.
(©) wanting
(D)  had want (E)  Question not attempted
E ti t att ted
(E) Question not attempte 95. For the given sentence, choose the most
92.  Choose the correct Passive form of the given appropriate answer from the options
sentence from the options provided : provided :
Thﬁ lawyer gave Arun the details of his uncle’s Air-pollution s serious problem in
Wik Delhi these days.
(A) The lawyer is giving Arun the details of
his uncle’s will. (A)  the
(B) Arun was got the details of his uncle’s
will from the lawyer. (B) an
(C)  Arun was given the details of his uncle’s
. (©) some
will by the lawyer.
(D)  The lawyer will give Arun the details of D) a
his uncle’s will.
(E)  Question not attempted (E)  Question not attempted
Q DS22 17 P.T.O
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96.

97.

98.

99.

fr=feriaa & ¥ fope Torem= it et 7, #iE At &

THEMET B, T 3 FAWTET T W
GIEARCIACCIES

(A)  TERtSEt

(B)  Hic I

©) zFETE

(D) TS

(B) 3raRd e

ST 3T Gmail T TH SHA for@d &, af freiaiad
H A BI-T Trehed T&f ST 78t erdTe ?

(A)  IRTHEA

(B) gAY

(© gArwst

(D)  IR< WA BT ferehed

(E)  3rgaid e

TSR # YA RET gaelt o w2 o) R 2 2

T feT T faspedt 7 ¥ Hew SUgE TR B gATT
L

(A) IR
(B) R
© =T
(D)  STrerqe
(

E)  Srid ued

T TSI AT A I FHTE TS & Raets
fagte fpar a2

T fST T foepedt 7 § HEw SUGE TR B g
Y

(A)  TOTHATS
(B)  wromr TSt g
Q) ImmHEE g
(D)  TromTEEm

(

E) 3 and wed

: Q DS22 18

97.

Which one of the following Rajasthani singer,
made the Maand style of folk singing popular, at
the national and international level ?

(A) Gavari Devi

(B Moti Devi

(C Harkabai
(
(

~

g O

) Meethibai

E)  Question not attempted

While composing an email on Gmail, which of the
following options is not present ?

(A) Attachfile
(B)  Insert emoji
(©) Resend

D) Text formatting options

E)  Question not attempted

In which place of Rajasthan do we find the
Rampuria Haveli ?

Choose the most appropriate answer from the
options provided below :

(A) Udaipur
(B)  Bikaner
(©)  Jhunjhunu
(D)  Jodhpur

(

E)  Question not attempted

Which Rajput ruler revolted against Mughal
Emperor Aurangzeb ?

Choose the most appropriate answer from the
options provided below :

(A) Rana Pratap
(B) Rana Raj Singh
(©) Raja Man Singh
(D) Rana Sanga
(

E)  Question not attempted
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100. ﬁwﬁ'aﬁaﬁﬁ'{sﬁqszr % 680 3T T 820 H WIal| 39| 100. Saurav bought two items for ¥ 680 and T 820
TEet 59 ETRT & |7 @Tw 15% @TH % respectively. He sold the first item with 5% loss
§ N o - and the second item with 15% profit. Find his
T ! W SHRT ¢l 3 profit or loss percentage in the whole transaction.
TTTT AT B2 | (SITAAT o 2 T IF FET) (correct to 2 decimal places)
(A) @, 5.93% (A)  profit, 5.93%
(B) @, 5.86% (B)  profit, 5.86%
(©) =,5.12% (C) loss, 5.12%
(D) T4, 10.25% (D)  profit, 10.25%
(B) IraRa ued (E)  Question not attempted
101. A T STHITOTET 2011 %W’%‘QWWI}@ 101. As per the Census of India 2011, from the given
TSR % Fereferiaa fvent & o fpa ey & [rerar options which of the following districts, recorded
Y T the highest literacy rate in Rajasthan ?
(A) TR (A)  Jhunjhunu
(B) &R (B)  Sikar
(C) 9T (C) Baran
(D)  FRETR (D)  Sri Ganganagar
(E) alT-ﬁﬁ_c[ PRC (E)  Question not attempted
102. A, B 3T C 7 SBHAIT T 36,000, T 40,000 31T T 48,000 |102. A, B and C entered into a partnership by investing
FT T 556 msimﬁ TEF TS F AT H = 62,000 % 36,000, ¥ 40,000 and X 48,000 respectively. At the
. e Co~ . end of the year, what is the difference between the
¥ #, A S C et o v 2 ¢
PACTHH, AIRC 2 &l : shares of A and C out of the total profit of ¥ 62,000?
(A) 5,000 (A) 5,000
(B) 6,000 (B) 6,000
(C) 6,280 (C) 6,280
(D) 4,000 (D) 4,000
(E) 347—\13@?-[ g9 (E)  Question not attempted
103. To=TIREd | 9 BI9-9T TISTEATT BT “Irs"T 59 |103.  Which one of the following flowers is known as the
Bl ™ &
FEATATE ? ‘State Flower” of Rajasthan ?
(A) ﬁ'%::ﬂ (A) Rohida
(B) TN (B) Kaner
O HHA (C©) Lotus
(D) WW (D) Desert Rose
(E) 31’71’?1'&6[ PEC (E)  Question not attempted
104. ISATT a9 202526 & AR, AFHT % {17 |104. As per the Rajasthan budget 2025-26, the Centre of
S ¥z e ¥ B e # wnfug e Excellence for Maize, will be established in which
’ town of Rajasthan ?
STTQaTT ?
(A)  IAY (A) Bharatpur
(B) BT (B)  Bikaner
C) wEET (©) Barmer
(D)  «EarET (D) Banswara
(E) a:lﬂﬁ—c[ 99T (E)  Question not attempted
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105. TefeTRad | § BIF-HT, Teh I SIS ARI & ? 105. Which of the following is not a Web Browser ?
(A)  HBRY (A) Safari
(B)  3muT (B) Opera
© AL (©) Google Chrome
(D) AT (D) KompoZer
(B) rIaRa ued (E)  Question not attempted
106. AT &= o e 3 T, TSt ¥¥eh g7 TsT | 106.  For the development of border areas, which of the
TS 2025-26 F 31 T Prefefaa § ¥ |99 fouowing programs, is said to be launched by the
i o I B EETETE 2 Izigéa;tz}éa? Government, as per the State Budget
(A) g@ﬂ—aﬁ ATt e e aRisE=T (A) Mukhyamantri Seema-Varti Kshetra Vikas
Pariyojana
(B) @T\—aﬁ oTT THET éﬁ_ar TIF T FTUHEY (B) Mukhyamantri Thar Seema Kshetra Vikas
Karyakram
© 11@11:\3?[ SR 3T FFEH (©)  Mukhyamantri Jaisalmer Utthan Karyakram
(D) g@ﬂ—aﬁﬁ-\mﬁ? CEAR RIS (D) Mukhyamantri Jaisalmer Vikas Yojana
(E) alT-ﬁﬁ_c[ IPECH (E)  Question not attempted
107. MS PowerPoint ¥ gﬁa%h_{ TS T % {e7w|107. Which of the following shortcut key, is used for
Srfefed § 9 St oiidse W T ST FRaT creating a duplicate slide, in MS PowerPoint ?
STATE ?
(A) Ctrl + Shift + N (A) Ctrl + Shift + N
(B) Cul+Alt+D (B) Cul+Alt+D
(C) Cul+Alt+N (C©) Cul+Alt+N
(D) Ctrl + Shift+D (D)  Ctrl + Shift+ D
(E) 347—\13@?-[ g9 (E)  Question not attempted
108. IS ¥, e Aifq SmANT #1087 TET|108. Who participated from Rajasthan, in the 10th
PN Bl o F, W forarr 2 Governing Council Meeting, of the NITT Aayog ?
(A) T (A)  Finance Minister
(B) A=l (B)  Chief Minister
(C)  feremwsit (©)  Education Minister
(D) TS=UT™ (D) Governor
(B) IraRa ueA (E)  Question not attempted
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109. HIATHTAT IS ITHARTY TSEATH & - {eTiad |109. The Sitamata Wildlife Sanctuary is situated in
kAT 833[13{ ﬁ%% ? which of the following regions of Rajasthan ?
(A) EICAGERE [ERGILIIEY (A) Bikaner and Nagaur
(B)  3ITET3NT AR (B)  Alwar and Bharatpur
(©) AR (C)  Sikar and Jhunjhunu
(D) game 3T FaeieTe (D) Pratapgarh and Chittorgarh
(E) 3@?@? uq (E)  Question not attempted
110. v B“i{' {iqﬁ Hrew, T F H={aRgd § §110. In which of the following villages of Rajasthan is
pa g A Rua®? the main Tripura Sundari Temple located ?
(A) TR (A) Ranakpur
(B) 3B (B)  Deshnok
(© Herar (C©) Mandawa
(D) I3 (D)  Umrai
(E) 3]7-@%\—(-[ g9 (E)  Question not attempted
111. HHPHE AT 396 o€ & 99 ﬁ, RSEIG) ﬁ, 111. Which of the following was not a style of turban in
frafaRed & ¥ SIE-TE # et TE ot 2 Rajasthan, during the medieval times and beyond ?
(A) TSR mE (A)  Khanjar Shahi
(B) frasméEr (B)  Shivshahi
(©)  urEEr (C) Pomcha
(D)  STReE (D)  Amarshahi
(E) 31’71’?1'&6[ PR (E)  Question not attempted
112. TS OI6E & 3fad e 31847 fy9mT & #=1|112. Who is the Minister of School Education
(ST 2025 % STTAR) BT E ? zz}zr]tlr;een;o;;d?er the Government of Rajasthan
(A)  weA feamx (A) Madan Dilawar
(B) i g (B) Gajendra Singh
O SR YA (C)  Jogaram Patel
(D) fETgt T (D)  Kirodi Lal
(B) IraRa ueA (E)  Question not attempted
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113, T, 3151 3T ST ¥ AR Ao % : % : % = 113. The monthly salarieslof I:\’lam, Ajay and Aslam are
- - in the ratio — : — : —. If their salaries are
3T # ¥ | ITg 3% I | HAM 10%, 10% AR 10 6
20% ﬁ@ﬁ?{ﬁdldﬁ% T 3TF Qddfﬁ&-iblld 20T - increased by 10%, 10% and 20% respectively, then
’ ’ their salaries will be in the ratio :
(A) 15:10:48 (A) 15:10:48
(B) 22:33:60 (B) 22:33:60
(C) 22:30:55 (© 22:30:55
(D) 23:33:60 (D) 23:33:60
(B) I aRa ued (E)  Question not attempted
114. FIWATET, FRE 3T MHUT & TEE! =i § aicir|114. The dialect spoken in the areas of Banswara,
ST TeR SotT Sl T BT ST ? Dungarpur and nearby hilly areas of Rajasthan is
' called :
(A) 9uTSt (A)  Wagdi
(B) garer (B) Dhundhari
© e (C) Hadoti
(D)  #aT (D) Mewati
(E) alT-ﬁﬁ_c[ PRC (E)  Question not attempted
115. u‘&{ﬁﬂ@'{ﬁ 5:6% T 'Ef% 3N ITRTLCM 210|115. If two numbers are in the ratio 5 : 6 and their LCM
% T 3THTHCF gT*'IT . is 210, then their HCF is :
A) 11 (A) 11
B 7 B) 7
() 14 (© 14
(D) 10 (D) 10
(E) 347—\13@?-[ g9 (E)  Question not attempted
116. 128 T G19-3734T, 80 % AR-Gr=d & {1 uiqera |116. By what percent is five-eighth of 128, is more than
Sﬁ%‘ﬁﬁ% 5 four-fifth of 80 ?
(A)  25% (A)  25%
(B) 30% (B) 30%
(C) 35% < 35%
(D) 20% (D) 20%
(B) 3:['-\1)?@?[ 99T (E)  Question not attempted
117. % 2,50,000 92 15 HEMT BT 12% A6 ST A Thgig [117. Find the compound interest on ¥ 2,50,000 for
TS AT B, ST ST T ST 2 | 15 months at 12% per annum compounded half
’ yearly.
(A) 39,300 (A) 39,300
(B) ¥ 46,802 (B) T 46,802
(C) 39327 (© T39327
(D) ¥ 38,400 (D) ¥ 38,400
(E) 3:['-\1)?@?[ 9T (E)  Question not attempted
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118. WA % ST &6 IR, Tl WA AT &T7|118. According to the Constitution of India, it is the
Iz ¥ 7F g7 ST BT e BT, I A of every citizen to abide by the
%— oS Eh% Constitution, to respect the National Flag and the
e &1 3 =T ! National Anthem of India.
(A)  grgHg IR (A) Fraternal Right
(B) HAfoTd B (B) Fundamental Duty
(C) T IHR (C)  Judicial Right
(D) NG e I EAEY (D) Fundamental Right
(E) Sﬂ?lﬁ_cf q9q (E)  Question not attempted
119. I AT AT 5 ITHA (TATE) TS Eﬁ 19 HaT|119. A boat covers a certain distance downstream in
1
BT L, STt diley H 37 1L wer onrar 21 gt g 1 hour, while it comes back in 1 hours. If the
2
Fr iy 7 km/h% Tt oTia STer & =7 =% ahy km/h 3 speed of the stream is 7 km/h, then what is the
’ speed of the boat in still water in km/h ?
FITE ?
1 1
A 28— A 28—
() 28 () 28
(B) 24 (B) 24
C© 35 <© 35
(D) 21 (D) 21
(E) 3]71?@?-[ 79+ (E)  Question not attempted
120. A i\'(raﬁa'%\[) Z 800 H WISl 3T 3T 10% T & 4rer|120. A bought an item for ¥ 800 and sold it with 10%
B Bt A fam | B 3 39 159 T % |1 C Bt fam| profit to B. B sold it with 15% profit to C. How
much C paid for the item ?
C = 39 ] % o0 a1 et g1 2
(A) T 976 (A) T 976
(B) 1,000 (B) 1,000
C) T1,012 € 1,012
(D) %920 (D) 920
(E) 31’71’?1'&6[ PR (E)  Question not attempted
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